



Characterization of prime rings having involution and centralizers

Nadeem Ahmad Dar
Government HSS, India

Adnan Abbasi
Madanapalle Institute of Technology & Science, India

Claus Haetingner
Universidade Federal do Rio Grande, Brazil

Arshad Madni
Aligarh Muslim University, India

Muzibur Rahman Mozumder
Aligarh Muslim University, India
Received : February 2023. Accepted : May 2023

Abstract

The major goal of this paper is to study the commutativity of prime rings with involution that meet specific identities using left centralizers. The results obtained in this paper are the generalization of many known theorems. Finally, we provide some examples to show that the conditions imposed in the hypothesis of our results are not superfluous.

Mathematics Subject Classification (2010): 16W25, 16N60, 16R50, 16U80.

Keywords and phrases: Prime ring, left centralizer, involution

1. Introduction

Throughout this paper, χ denotes an associative ring with centre $Z(\chi)$. This study was motivated by [1] and deals with the commutativity of prime rings with involution involving left centralizers. For any $s_1, s_2 \in \chi$, the notation $[s_1, s_2]$ illustrates the commutator $s_1 s_2 - s_2 s_1$, and $s_1 \circ s_2$ denotes the anti-commutator $s_1 s_2 + s_2 s_1$. An additive map $s_1 \mapsto s_1^*$ of χ into itself is said to be an involution if it satisfies $(s_1 s_2)^* = s_2^* s_1^*$ and $(s_1^*)^* = s_1 \forall s_1, s_2 \in \chi$. Rings with involution, often known as $*$ -rings. Let $H(\chi)$ be the collection of Hermitian elements ($s_1^* = s_1$) and $S(\chi)$ be the collection of skew-Hermitian elements ($s_1^* = -s_1$) of χ . If $\text{char}(\chi) = 2$, then, obviously, $H(\chi) = S(\chi)$. If $Z(\chi) \subseteq H(\chi)$, the involution is said to be of the first kind; otherwise, it is of the second kind. In the latter case $S(\chi) \cap Z(\chi) \neq (0)$ (e.g. quaternion involution is of the first kind). In [6], there's a mention of these rings as well as additional references.

Following [13], an additive mapping $T : \chi \rightarrow \chi$ is called a left (resp. right) centralizer of χ if $T(s_1 s_2) = T(s_1) s_2$ (resp. $T(s_1 s_2) = s_1 T(s_2) \forall s_1, s_2 \in \chi$). The mapping $T : \chi \rightarrow \chi$ is called centralizer of χ if it is both left as well as right centralizer of χ . Further, many authors have extended this definition and obtained many results between the ring χ 's commutativity and certain types of mappings on χ . One of the result was found by Divinsky [4], who established that if a simple Artinian ring χ has a commuting non-trivial automorphism, then χ is commutative. A number of authors went on to refine and extend this conclusion in diverse directions (viz., [2, 3, 5, 7, 9, 10, 11, 12]). Recently Ali and Dar in [1], investigated the commutativity of $(\chi, *)$ prime ring involving left centralizers. In fact, they have proved that if χ be a prime ring characteristic different from two having involution $*$ of the second kind and having a left centralizer $T (\neq 0)$ satisfying $T([s_1, s_1^*]) = 0 \forall s_1 \in \chi$, implies χ is commutative. In this paper we have obtained such results in a more general form.

In our paper, we use only left centralizers and these results are also valid for right centralizers as of its symmetry. Throughout our discussion, $(\chi, *)$ refers as ring χ with involution $*$ of the second kind.

2. Results

We start this section with some basic results.

Lemma 2.1. [8, Lemma 2.1] Let $(\chi, *)$ be a prime ring with characteristic different from two. Then $[s_1, s_1^*] \in Z(\chi) \forall s_1 \in \chi \iff \chi$ is commutative.

Lemma 2.2. [8, Lemma 2.2] Let $(\chi, *)$ be a prime ring with characteristic different from two. Then $s_1 \circ s_1^* \in Z(\chi) \forall s_1 \in \chi \iff \chi$ is commutative.

Theorem 2.3. Let $(\chi, *)$ be a prime ring with characteristic different from two. If χ has a left centralizer $T(\neq 0)$ satisfying $T([s_1, s_1^*]) \in Z(\chi) \forall s_1 \in \chi$, then χ is commutative.

Proof. By the given assumption, we have

$$(2.1) \quad T([s_1, s_1^*]) \in Z(\chi) \forall s_1 \in \chi.$$

Linearizing (2.1), we get

$$(2.2) \quad T([s_1, s_2^*]) + T([s_2, s_1^*]) \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Replacing s_2 by $s_4 s_2$ in (2.2), where $s_4 \in S(\chi) \cap Z(\chi)$, we have

$$(2.3) \quad \begin{aligned} & -T([s_1, s_2^*])s_4 + T([s_2, s_1^*])s_4 \in Z(\chi) \forall s_1, s_2 \in \chi \text{ and} \\ & s_4 \in S(\chi) \cap Z(\chi). \end{aligned}$$

Multiplying (2.2) by s_4 from right and adding it with (2.3), we arrive at

$$2T([s_2, s_1^*])s_4 \in Z(\chi) \forall s_1, s_2 \in \chi \text{ and } s_4 \in S(\chi) \cap Z(\chi).$$

Since characteristic of χ is different from two, we get

$$T([s_2, s_1^*])s_4 \in Z(\chi) \forall s_1, s_2 \in \chi \text{ and } s_4 \in S(\chi) \cap Z(\chi).$$

Since, χ is prime ring and we know that $S(\chi) \cap Z(\chi) \neq (0)$, we obtain

$$T([s_2, s_1^*]) \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Replace s_1 by s_1^* , we get

$$(2.4) \quad T([s_2, s_1]) \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Replacing s_1 by $s_1 t$ in (2.4), where $t \in \chi$, we get $T([s_2, s_1 t]) \in Z(\chi) \forall s_1, s_2, t \in \chi$. With the help of (2.4), we obtain

$$(2.5) \quad T(s_1)[[s_2, t], s_3] + [T(s_1), s_3][s_2, t] + T([s_2, s_1])[s_3, t] = 0 \quad \forall s_1, s_2, s_3, t \in \chi.$$

Substituting s_2 for t in (2.5), we arrive at

$$(2.6) \quad T([s_2, s_1])[s_2, s_3] = 0 \quad \forall s_1, s_2, s_3 \in \chi.$$

Replacing s_3 by s_3m in (2.6), where $m \in \chi$ and applying (2.6), we obtain

$$(2.7) \quad T([s_2, s_1])s_3[s_2, m] = 0 \quad \forall s_1, s_2, s_3, m \in \chi.$$

Using the primeness of χ , for fixed s_2 , we get either $T([s_2, s_1]) = 0 \quad \forall s_1 \in \chi$ or $[s_2, m] = 0 \quad \forall m \in \chi$. Define $M = \{s_2 \in \chi \mid T([s_2, s_1]) = 0 \quad \forall s_1 \in \chi\}$ and $N = \{s_2 \in \chi \mid [s_2, m] = 0 \quad \forall m \in \chi\}$. Now, M and N are additive subgroup of χ such that $\chi = M \cup N$. Then by Brauer's results, either $M = \chi$ or $N = \chi$. If $N = \chi$, then $[s_2, m] = 0 \quad \forall s_2, m \in \chi$, we get χ is commutative. Now consider $M = \chi$, in this situation, we have

$$(2.8) \quad T([s_2, s_1]) = 0 \quad \forall s_1, s_2 \in \chi.$$

Replace s_2 by s_2u in (2.8), where $u \in \chi$, we get $T(s_2)[u, s_1] + T([s_2, s_1])u = 0 \quad \forall s_1, s_2, u \in \chi$. Using (2.8), we obtain $T(s_2)[u, s_1] = 0 \quad \forall s_1, s_2, u \in \chi$. Replacing s_2 by s_2s_3 where $s_3 \in \chi$, we get $T(s_2)s_3[u, s_1] = 0 \quad \forall s_1, s_2, s_3, u \in \chi$, primeness of χ gives us either T is zero or $[u, s_1] = 0 \quad \forall u, s_1 \in \chi$. Since $T \neq 0$, we get $[u, s_1] = 0 \quad \forall u, s_1 \in \chi$ and hence χ is commutative. $\square$

Corollary 2.1. [1, Theorem 3.1] *Let $(\chi, *)$ be a prime ring with characteristic different from two. If χ has a left centralizer $T(\neq 0)$ satisfying $T([s_1, s_1^*]) = 0 \quad \forall s_1 \in \chi$, then χ is commutative.*

Theorem 2.4. *Let $(\chi, *)$ be a prime ring with characteristic different from two. If χ has a left centralizer $T(\neq 0)$ satisfying $T(s_1 \circ s_1^*) \in Z(\chi) \quad \forall s_1 \in \chi$, then χ is commutative.*

Proof. We have

$$(2.9) \quad T(s_1 \circ s_1^*) \in Z(\chi) \quad \forall s_1 \in \chi.$$

Linearizing (2.9), we get

$$(2.10) \quad T(s_1 \circ s_2^*) + T(s_2 \circ s_1^*) \in Z(\chi) \quad \forall s_1, s_2 \in \chi.$$

Replacing s_2 by s_4s_2 in (2.10) where $s_4 \in S(\chi) \cap Z(\chi)$, we get

$$(2.11) \quad \begin{aligned} & -T(s_1 \circ s_2^*)s_4 + T(s_2 \circ s_1^*)s_4 \in Z(\chi) \forall s_1, s_2 \in \chi \text{ and} \\ & s_4 \in S(\chi) \cap Z(\chi). \end{aligned}$$

Multiplying (2.10) by s_4 from right and on comparing it with (2.11), we get $2T(s_2 \circ s_1^*)s_4 \in Z(\chi) \forall s_1, s_2 \in \chi$ and $s_4 \in S(\chi) \cap Z(\chi)$. Since $\text{char}(\chi) \neq 2$, this implies that $T(s_2 \circ s_1^*)s_4 \in Z(\chi) \forall s_1, s_2 \in \chi$ and $s_4 \in S(\chi) \cap Z(\chi)$. Now using the primeness of χ and the fact that $S(\chi) \cap Z(\chi) \neq (0)$, we get $T(s_2 \circ s_1^*) \in Z(\chi) \forall s_1, s_2 \in \chi$. Taking s_1^* for s_1 we get $T(s_2 \circ s_1) \in Z(\chi) \forall s_1, s_2 \in \chi$. Replacing s_2 by h where $h \in H(\chi) \cap Z(\chi)$, we get $2T(s_1)h \in Z(\chi) \forall s_1 \in \chi$ and $h \in H(\chi) \cap Z(\chi)$. Since characteristic of χ is different from two and $S(\chi) \cap Z(\chi) \neq (0)$, we get $T(s_1) \in Z(\chi) \forall s_1 \in \chi$. That is,

$$(2.12) \quad [T(s_1), s_3] = 0 \quad \forall s_1, s_3 \in \chi.$$

Replacing s_1 by $s_1 s_2$ where $s_1, s_2 \in \chi$ and using (2.12), we finally arrive at

$$T(s_1)[s_2, s_3] = 0 \quad \forall s_1, s_2, s_3 \in \chi.$$

Taking $s_2 = w s_1$ where $w \in \chi$, we get $T(s_1)w[s_2, s_3] = 0 \quad \forall s_1, s_2, s_3$ and $w \in \chi$. Since $T \neq 0$ and by the primeness of χ , we get the required result. $\square$

Corollary 2.2. [1, Theorem 3.2] *Let $(\chi, *)$ be a prime ring with characteristic different from two. If χ has a left centralizer $T(\neq 0)$ satisfying $T(s_1 \circ s_1^*) = 0 \quad \forall s_1 \in \chi$, then χ is commutative.*

Corollary 2.3. *Let $(\chi, *)$ be a prime ring with characteristic different from two. If χ has a left centralizer $T(\neq 0)$ satisfying $T(s_1 \circ s_1^*) \mp [s_1, s_1^*] \in Z(\chi) \forall s_1 \in \chi$, then χ is commutative.*

Proof. We have

$$(2.13) \quad T(s_1 \circ s_1^*) \mp [s_1, s_1^*] \in Z(\chi) \forall s_1 \in \chi.$$

If $T(s_1 \circ s_1^*)$ is zero, thus, χ is commutative by Lemma 2.1. Now consider $T(s_1 \circ s_1^*)$ is nonzero. Substituting s_1^* for s_1 in (2.13), we obtain

$$(2.14) \quad T(s_1 \circ s_1^*) \mp [s_1^*, s_1] \in Z(\chi) \forall s_1 \in \chi.$$

Combining (2.13) and (2.14), we get $T(s_1 \circ s_1^*) \in Z(\chi) \forall s_1 \in \chi$. Thus in view of Theorem 2.4, we get the required result. $\square$

Theorem 2.5. *Let $(\chi, *)$ be a prime ring with characteristic different from two. If χ has a left centralizer T satisfying $T([s_1, s_1^*]) \mp [s_1, s_1^*] \in Z(\chi) \forall s_1 \in \chi$ and $T(s_1) \neq \mp s_1 \forall s_1 \in \chi$, then χ is commutative.*

Proof. First, we consider the situation

$$(2.15) \quad T([s_1, s_1^*]) - [s_1, s_1^*] \in Z(\chi) \forall s_1 \in \chi.$$

If $T([s_1, s_1^*])$ is zero then we get $[s_1, s_1^*] \in Z(\chi) \forall s_1 \in \chi$. Then by using Lemma 2.1, we get χ is commutative. Later consider $T([s_1, s_1^*])$ to be nonzero. Linearizing (2.15), we get

$$(2.16) \quad T([s_1, s_2^*]) + T([s_2, s_1^*]) - [s_1, s_2^*] - [s_2, s_1^*] \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Replacing s_2 by $s_4 s_2$ in (2.16) where $s_4 \in S(\chi) \cap Z(\chi)$, we get

$$(2.17) \quad \begin{aligned} & -T([s_1, s_2^*])s_4 + T([s_2, s_1^*])s_4 + [s_1, s_2^*]s_4 - [s_2, s_1^*]s_4 \in Z(\chi) \forall s_1, s_2 \in \chi \\ & \text{and } s_4 \in S(\chi) \cap Z(\chi). \end{aligned}$$

Multiplying (2.16) by s_4 from right and adding it with (2.17), we obtain

$$2(T([s_2, s_1^*]) - [s_2, s_1^*])s_4 \in Z(\chi) \forall s_1, s_2 \in \chi \text{ and } s_4 \in S(\chi) \cap Z(\chi).$$

Since characteristic of χ is different from two and $S(\chi) \cap Z(\chi) \neq (0)$, last relation yields

$$(2.18) \quad T([s_2, s_1^*]) - [s_2, s_1^*] \in Z(\chi) \forall s_1, s_2 \in \chi.$$

That is,

$$[T([s_2, s_1^*]) - [s_2, s_1^*], s_3] = 0 \quad \forall s_1, s_2, s_3 \in \chi.$$

Or

$$[T([s_2, s_1^*]), s_3] - [[s_2, s_1^*], s_3] = 0 \quad \forall s_1, s_2, s_3 \in \chi.$$

Taking s_1^* for s_1 , we get

$$(2.19) \quad [T([s_2, s_1]), s_3] - [[s_2, s_1], s_3] = 0 \quad \forall s_1, s_2, s_3 \in \chi.$$

Replacing s_2 by $s_2 w$ in (2.19), where $w \in \chi$

$$(2.20) \quad [T([s_2 w, s_1]), s_3] - [[s_2 w, s_1], s_3] = 0 \quad \forall s_1, s_2, s_3, w \in \chi.$$

This finally yields that

$$\begin{aligned}
 & T(s_2)[[w, s_1], s_3] + [T(s_2), s_3][w, s_1] + T([s_2, s_1])[w, s_3] \\
 & + [T([s_2, s_1]), s_3]w - s_2[[w, s_1], s_3] - [s_2, s_3][w, s_1] - [s_2, s_1][w, s_3] \\
 & - [[s_2, s_1], s_3]w = 0 \quad \forall s_1, s_2, s_3, w \in \chi.
 \end{aligned}
 \tag{2.21}$$

Multiplying (2.19) on the right by w , where $w \in \chi$ and subtracting from (2.21), we obtain

$$(2.22) \quad T(s_2)[[w, s_1], s_3] + [T(s_2), s_3][w, s_1] + T([s_2, s_1])[w, s_3] -$$

$$s_2[[w, s_1], s_3] - [s_2, s_3][w, s_1] - [s_2, s_1][w, s_3] = 0$$

for all $s_1, s_2, s_3, w \in \chi$. Taking s_1 for w in (2.22), we get

$$T([s_2, s_1])[s_1, s_3] - [s_2, s_1][s_1, s_3] = 0 \quad \forall s_1, s_2, s_3 \in \chi.$$

This can be further written as

$$(2.23) \quad (T([s_2, s_1]) - [s_2, s_1])[s_1, s_3] = 0 \quad \forall s_1, s_2, s_3 \in \chi.$$

Replacing s_3 by ts_3 in (2.23), where $t \in \chi$.

$$(T([s_2, s_1]) - [s_2, s_1])t[s_1, s_3] + (T([s_2, s_1]) - [s_2, s_1])[s_1, t]s_3 = 0$$

$$\forall s_1, s_2, s_3, t \in \chi.$$

In view of (2.23), we get

$$(T([s_2, s_1]) - [s_2, s_1])t[s_1, s_3] = 0 \quad \forall s_1, s_2, s_3, t \in \chi.$$

Now by primeness of χ , for each fixed $s_1 \in \chi$, we get either $T([s_2, s_1]) - [s_2, s_1] = 0 \quad \forall s_2 \in \chi$ or $[s_1, s_3] = 0 \quad \forall s_3 \in \chi$. Define $A = \{s_1 \in \chi \mid T([s_2, s_1]) - [s_2, s_1] = 0 \quad \forall s_2 \in \chi\}$ and $B = \{s_1 \in \chi \mid [s_1, s_3] = 0 \quad \forall s_3 \in \chi\}$. We observe that A and B are additive subgroups of χ . So, by previous argument we get either $A = \chi$ or $B = \chi$. If $B = \chi$, then $[s_1, s_3] = 0 \quad \forall s_1, s_3 \in \chi$, we get χ is commutative. Now consider $A = \chi$, in this situation

$$(2.24) \quad T([s_2, s_1]) - [s_2, s_1] = 0 \quad \forall s_1, s_2 \in \chi.$$

Replacing s_2 by $s_2T(w)$ in (2.24), where $w \in \chi$, we obtain

$$T([s_2T(w), s_1]) - [s_2T(w), s_1] = 0 \quad \forall s_1, s_2, w \in \chi.$$

That is,

$$T(s_2)[T(w), s_1] + T([s_2, s_1])T(w) - s_2[T(w), s_1] - [s_2, s_1]T(w) = 0$$

$$\forall s_1, s_2, w \in \chi.$$

by using (2.24), we get

$$(2.25) \quad T(s_2)[T(w), s_1] - s_2[T(w), s_1] = 0 \quad \forall s_1, s_2, w \in \chi.$$

Substituting $s_2T(m)$ for s_2 in (2.25), where $m \in \chi$, we obtain

$$(2.26) \quad T(s_2)T(m)[T(w), s_1] - s_2T(m)[T(w), s_1] = 0 \quad \forall m, s_1, s_2, w \in \chi.$$

Left multiplication by $T(m)$ in (2.25), produces

$$(2.27) \quad T(m)T(s_2)[T(w), s_1] - T(m)s_2[T(w), s_1] = 0 \quad \forall m, s_1, s_2, w \in \chi.$$

Combining (2.26) and (2.27), we have

$$(2.28) \quad ([T(s_2), T(m)] + [T(m), s_2])[T(w), s_1] = 0 \quad \forall m, s_1, s_2, w \in \chi.$$

Replacing s_1 by s_1u , where $u \in \chi$ in (2.28) and using it again, we get

$$([T(s_2), T(m)] + [T(m), s_2])s_1[T(w), u] = 0 \quad \forall m, s_1, s_2, w, u \in \chi.$$

Applying the primeness of χ , we get either $[T(w), u] = 0 \quad \forall u, w \in \chi$ or $[T(s_2), T(m)] + [T(m), s_2] = 0 \quad \forall m, s_2 \in \chi$. If we consider $[T(w), u] = 0 \quad \forall u, w \in \chi$, we can easily find that χ is commutative. Consider

$$(2.29) \quad [T(s_2), T(m)] + [T(m), s_2] = 0 \quad \forall m, s_2 \in \chi.$$

Substituting s_2u for s_2 in (2.29), where $u \in \chi$, we find that

$$(2.30) \quad T(s_2)[u, T(m)] + [T(s_2), T(m)]u + s_2[T(m), u] + [T(m), s_2]u = 0$$

for all $m, s_2, u \in \chi$. Combining (2.29) and (2.30), we get that

$$(2.31) \quad (T(s_2) - s_2)[T(m), u] = 0 \quad \forall s_2, m, u \in \chi.$$

Taking us_1 for u in (2.31) and using it again, we see that

$$(2.32) \quad (T(s_2) - s_2)u[T(m), s_1] = 0 \quad \forall s_1, s_2, m, u \in \chi.$$

Applying the primeness of χ , we obtain either $T(s_2) = s_2 \forall s_2 \in \chi$ or $[T(m), s_1] = 0 \forall m, s_1 \in \chi$. But $T(s_2) = s_2 \forall s_2 \in \chi$ is not possible by our assumption, therefore $[T(m), s_1] = 0 \forall m, s_1 \in \chi$. This implies that χ is commutative.

The second portion can be proved in the same way as the first. $\square$

Corollary 2.4. [1, Theorem 3.3] Let $(\chi, *)$ be a prime ring with characteristic different from two. If χ has a left centralizer $T(\neq 0)$ satisfying $T([s_1, s_1^*]) \mp [s_1, s_1^*] = (0) \forall s_1 \in \chi$ and $T(s_1) \neq \mp s_1 \forall s_1 \in \chi$, then χ is commutative.

Theorem 2.6. Let $(\chi, *)$ be a prime ring with characteristic different from two. If χ has a left centralizer T satisfying $T(s_1 \circ s_1^*) \mp (s_1 \circ s_1^*) \in Z(\chi)$ and $T(s_1) \neq \mp s_1 \forall s_1 \in \chi$, then χ is commutative.

Proof. We have

$$(2.33) \quad T(s_1 \circ s_1^*) - (s_1 \circ s_1^*) \in Z(\chi) \forall s_1 \in \chi.$$

If $T = 0$, using Lemma 2.2, we conclude that χ is commutative. We consider $T \neq 0$. Linearizing (2.33), we get

$$(2.34) \quad T(s_1 \circ s_2^*) + T(s_2 \circ s_1^*) - (s_1 \circ s_2^*) - (s_2 \circ s_1^*) \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Replacing s_2 by $s_4 s_2$ in (2.34), where $s_4 \in S(\chi) \cap Z(\chi)$, we have

$$(2.35) \quad -T(s_1 \circ s_2^*)s_4 + T(s_2 \circ s_1^*)s_4 + (s_1 \circ s_2^*)s_4 - (s_2 \circ s_1^*)s_4 \in Z(\chi)$$

for all $s_1, s_2 \in \chi$ and $s_4 \in S(\chi) \cap Z(\chi)$. Combining (2.34) and (2.35), we find that

$$2(T(s_2 \circ s_1^*) - (s_2 \circ s_1^*))s_4 \in Z(\chi) \forall s_1, s_2 \in \chi \text{ and } s_4 \in S(\chi) \cap Z(\chi).$$

Since characteristic of χ is different from two and $S(\chi) \cap Z(\chi) \neq (0)$, we get

$$T(s_2 \circ s_1^*) - (s_2 \circ s_1^*) \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Substituting h_0 for s_1 , we have

$$2(T(s_2) - s_2)h_0 \in Z(\chi) \forall s_2 \in \chi \text{ and } h_0 \in H(\chi) \cap Z(\chi).$$

Since characteristic of χ is different from two and $S(\chi) \cap Z(\chi) \neq (0)$, we get

$$(2.36) \quad T(s_2) - s_2 \in Z(\chi) \forall s_2 \in \chi.$$

In particular, we get

$$[T(s_2), s_2] = 0 \quad \forall s_2 \in \chi.$$

Linearization of above relation gives

$$(2.37) \quad [T(s_2), s_1] + [T(s_1), s_2] = 0 \quad \forall s_1, s_2 \in \chi.$$

Substituting s_2w for s_2 in (2.37), where $w \in \chi$, we get

$$(2.38) \quad \begin{aligned} T(s_2)[w, s_1] + [T(s_2), s_1]w + s_2[T(s_1), w] + [T(s_1), s_2]w &= 0 \\ \forall s_1, s_2, w \in \chi. \end{aligned}$$

Combining (2.37) and (2.38), we found

$$(2.39) \quad T(s_2)[w, s_1] + s_2[T(s_1), w] = 0 \quad \forall s_1, s_2, w \in \chi.$$

Replacing s_1 by s_1m in (2.39), where $m \in \chi$, yields that

$$(2.40) \quad \begin{aligned} T(s_2)s_1[w, m] + T(s_2)[w, s_1]m + s_2T(s_1)[m, w] + s_2[T(s_1), w]m &= 0 \\ \forall s_1, s_2, w, m \in \chi. \end{aligned}$$

Using (2.39) in (2.40), it gives

$$(2.41) \quad (T(s_2)s_1 - s_2T(s_1))[w, m] = 0 \quad \forall s_1, s_2, m, w \in \chi.$$

Substituting mu for m in (2.41) and using (2.41), we obtain $(T(s_2)s_1 - s_2T(s_1))m[w, u] = 0 \quad \forall s_1, s_2, m, u, w \in \chi$. Applying the primeness of χ , yields that either $T(s_2)s_1 = s_2T(s_1) \forall s_1, s_2 \in \chi$ or $[w, u] = 0 \quad \forall u, w \in \chi$. If $[w, u] = 0 \quad \forall u, w \in \chi$, then χ is commutative. Now consider

$$(2.42) \quad T(s_2)s_1 = s_2T(s_1) \quad \forall s_1, s_2 \in \chi.$$

The relation (2.36) can be written as

$$(2.43) \quad [T(s_2), s_3] - [s_2, s_3] = 0 \quad \forall s_2, s_3 \in \chi.$$

Replacing s_2 by $s_1 s_2$, where $s_1 \in \chi$ in (2.43), we obtain

$$(2.44) \quad [T(s_1 s_2), s_3] - [s_1 s_2, s_3] = 0 \quad \forall s_1, s_2, s_3 \in \chi.$$

Since T is a left centralizer, (2.44), reduces to

$$(2.45) \quad [T(s_1) s_2, s_3] - [s_1 s_2, s_3] = 0 \quad \forall s_1, s_2, s_3 \in \chi.$$

Using (2.42), we get

$$(2.46) \quad [s_1 T(s_2), s_3] - [s_1 s_2, s_3] = 0 \quad \forall s_1, s_2, s_3 \in \chi.$$

$$(2.47) \quad s_1 [T(s_2), s_3] + [s_1, s_3] T(s_2) - s_1 [s_2, s_3] - [s_1, s_3] s_2 = 0 \quad \forall s_1, s_2, s_3 \in \chi.$$

Application of (2.43), we have

$$(2.48) \quad [s_1, s_3] T(s_2) - [s_1, s_3] s_2 = 0 \quad \forall s_1, s_2, s_3 \in \chi.$$

Above relation gives that $[s_1, s_3](T(s_2) - s_2) = 0 \quad \forall s_1, s_2, s_3 \in \chi$. Since $T(s_2) \neq s_2 \quad \forall s_2 \in \chi$, by the primeness of χ , we are done.

Similarly we can prove the other part. $\square$

Corollary 2.5. [1, Theorem 3.4] Let $(\chi, *)$ be a prime ring with characteristic different from two. If χ has a left centralizer $T (\neq 0)$ satisfying $T(s_1 \circ s_1^*) \mp (s_1 \circ s_1^*) = (0) \quad \forall s_1 \in \chi$ and $T(s_1) \neq \mp s_1 \quad \forall s_1 \in \chi$, then χ is commutative.

Theorem 2.7. Let $(\chi, *)$ be a prime ring with characteristic different from two. If χ has a left centralizer T satisfying $T([s_1, s_1^*]) \mp (s_1 \circ s_1^*) \in Z(\chi) \quad \forall s_1 \in \chi$, then χ is commutative.

Proof. We first consider the case

$$(2.49) \quad T([s_1, s_1^*]) - (s_1 \circ s_1^*) \in Z(\chi) \quad \forall s_1 \in \chi.$$

If $T = 0$, then by Lemma 2.2, we get χ is commutative. We consider $T \neq 0$. Replacing s_1 by s_1^* in (2.49), we find that

$$(2.50) \quad T([s_1^*, s_1]) - (s_1^* \circ s_1) \in Z(\chi) \quad \forall s_1 \in \chi.$$

Combining (2.49) and (2.50), we obtain $-2(s_1 \circ s_1^*) \in Z(\chi) \quad \forall s_1 \in \chi$. Since characteristic of χ is different from two, we conclude that $s_1 \circ s_1^* \in Z(\chi) \quad \forall s_1 \in \chi$. By an application of Lemma 2.2, we are done. The second part can be proved on similar lines. $\square$

Theorem 2.8. *Let $(\chi, *)$ be a prime ring with characteristic different from two. If χ has a left centralizer $T(\neq 0)$ satisfying $T([s_1, s_1^*]) \mp [T(s_1), s_1^*] \in Z(\chi) \forall s_1 \in \chi$, then χ is commutative or T is a centralizer.*

Proof. We first consider the case

$$(2.51) \quad T([s_1, s_1^*]) - [T(s_1), s_1^*] \in Z(\chi) \forall s_1 \in \chi.$$

Linearizing (2.51), we get

$$(2.52) \quad T([s_1, s_2^*]) + T([s_2, s_1^*]) - [T(s_1), s_2^*] - [T(s_2), s_1^*] \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Replacing s_2 by $s_4 s_2$ in (2.52) and using (2.52), we get

$$2(T([s_2, s_1^*]) - [T(s_2), s_1^*])s_4 \in Z(\chi) \forall s_1, s_2 \in \chi \text{ and } s_4 \in S(\chi) \cap Z(\chi).$$

Since characteristic of χ is different from two and $S(\chi) \cap Z(\chi) \neq (0)$, we have

$$(2.53) \quad T([s_2, s_1^*]) - [T(s_2), s_1^*] \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Taking s_1^* for s_1 in (2.53), we get

$$(2.54) \quad T([s_2, s_1]) - [T(s_2), s_1] \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Replacing s_2 by s_1 in (2.54) we get $[T(s_1), s_1] \in Z(\chi) \forall s_1 \in \chi$. On linearizing the last equation, we have

$$(2.55) \quad [T(s_1), s_2] + [T(s_2), s_1] = 0 \quad \forall s_1, s_2 \in \chi.$$

Replacing s_1 by $s_1 m$ in (2.55) and using it, we find that

$$(2.56) \quad T(s_1)[m, s_2] + s_1[T(s_2), m] = 0 \quad \forall s_1, s_2, m \in \chi.$$

Replacing s_2 by $s_2 u$ in (2.56) and using it, we get

$$(2.57) \quad (T(s_1)s_2 - s_1T(s_2))[m, u] = 0 \quad \forall s_1, s_2, m, u \in \chi.$$

Taking m by mw in (2.57), we get

$$(T(s_1)s_2 - s_1T(s_2))m[w, u] = 0 \quad \forall s_1, s_2, m, u, w \in \chi.$$

Since χ is prime, we get the required result. The second part can be proved on similar lines. $\square$

Theorem 2.9. *Let $(\chi, *)$ be a prime ring with characteristic different from two. If χ has a left centralizer $T(\neq 0)$ satisfying $T([s_1, s_1^*]) \mp T(s_1) \circ s_1^* \in Z(\chi) \forall s_1 \in \chi$, then χ is commutative.*

Proof. First we assume that

$$(2.58) \quad T([s_1, s_1^*]) - T(s_1) \circ s_1^* \in Z(\chi) \forall s_1 \in \chi.$$

Linearizing (2.58), we get

$$(2.59) \quad T([s_1, s_2^*]) + T([s_2, s_1^*]) - T(s_1) \circ s_2^* - T(s_2) \circ s_1^* \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Replacing s_2 by s_4s_2 in (2.59) and using it, we find that

$$2(T([s_2, s_1^*]) - T(s_2) \circ s_1^*)s_4 \in Z(\chi) \forall s_1, s_2 \in \chi \text{ and } s_4 \in S(\chi) \cap Z(\chi).$$

Since characteristic of χ is different from two and $S(\chi) \cap Z(\chi) \neq (0)$, we obtain

$$T([s_2, s_1^*]) - T(s_2) \circ s_1^* \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Taking s_1^* for s_1 , we have

$$(2.60) \quad T([s_2, s_1]) - T(s_2) \circ s_1 \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Replacing s_1 by $z \in Z(\chi)$ in (2.60), we get $2T(s_2)z \in Z(\chi) \forall s_2 \in \chi$ and $z \in Z(\chi)$. Since characteristic of χ is different from two and $S(\chi) \cap Z(\chi) \neq (0)$, we get $T(s_2) \in Z(\chi) \forall s_2 \in \chi$. That is, $[T(s_2), s_3] = 0 \quad \forall s_2, s_3 \in \chi$. Then reasoning as for equation (2.12), we get our result. The second part can be proved on similar lines. $\square$

Theorem 2.10. *Let $(\chi, *)$ be a prime ring with characteristic different from two. If χ has a left centralizer $T(\neq 0)$ satisfying $T(s_1 \circ s_1^*) + T(s_1) \circ s_1^* \in Z(\chi) \forall s_1 \in \chi$, then χ is commutative.*

Proof. First, we consider the case

$$(2.61) \quad T(s_1 \circ s_1^*) + T(s_1) \circ s_1^* \in Z(\chi) \forall s_1 \in \chi.$$

Linearizing (2.61), we get

$$(2.62) \quad T(s_1 \circ s_2^*) + T(s_2 \circ s_1^*) + T(s_1) \circ s_2^* + T(s_2) \circ s_1^* \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Replacing s_2 by $s_4 s_2$ in (2.62), we have

$$(2.63) \quad -T(s_1 \circ s_2^*) s_4 + T(s_2 \circ s_1^*) s_4 - (T(s_1) \circ s_2^*) s_4 + (T(s_2) \circ s_1^*) s_4 \in Z(\chi)$$

for all $s_1, s_2 \in \chi$ and $s_4 \in S(\chi) \cap Z(\chi)$. Using (2.62) in (2.63), we arrive at

$$2(T(s_2 \circ s_1^*) + T(s_2) \circ s_1^*) s_4 \in Z(\chi) \forall s_1, s_2 \in \chi \text{ and } s_4 \in S(\chi) \cap Z(\chi).$$

Since characteristic of χ is different from two and $S(\chi) \cap Z(\chi) \neq (0)$, we get

$$(2.64) \quad T(s_2 \circ s_1^*) + T(s_2) \circ s_1^* \in Z(\chi) \forall s_1, s_2 \in \chi.$$

Replacing s_1 by h in (2.64), where $h \in H(\chi) \cap Z(\chi)$, we have

$$2(T(s_2))h \in Z(\chi) \forall s_2 \in \chi \text{ and } h \in H(\chi) \cap Z(\chi).$$

As characteristic of χ is different from two and $H(\chi) \cap Z(\chi) \neq (0)$, we get $T(s_2) \in Z(\chi) \forall s_2 \in \chi$. This yields that $[T(s_2), s_3] = 0 \forall s_2, s_3 \in \chi$. Then reasoning as for equation (2.12), we arrive at our conclusion. $\square$

3. Examples

The example of this concluding section shows that our results does not hold in case the involution is of the first kind.

Example 3.1. Let $\chi = \left\{ \begin{pmatrix} \beta_1 & \beta_2 \\ \beta_3 & \beta_4 \end{pmatrix} \mid \beta_1, \beta_2, \beta_3, \beta_4 \in \mathbf{Z} \right\}$. Of course, χ with matrix addition and matrix multiplication is a non commutative prime ring. Define mappings $*, T: \chi \longrightarrow \chi$ such that

$$\begin{pmatrix} \beta_1 & \beta_2 \\ \beta_3 & \beta_4 \end{pmatrix}^* = \begin{pmatrix} \beta_4 & -\beta_2 \\ -\beta_3 & \beta_1 \end{pmatrix} \text{ and } T \begin{pmatrix} \beta_1 & \beta_2 \\ \beta_3 & \beta_4 \end{pmatrix} = \begin{pmatrix} \beta_1 & \beta_2 \\ 0 & 0 \end{pmatrix}.$$

Obviously, $Z(\chi) = \left\{ \begin{pmatrix} \beta_1 & 0 \\ 0 & \beta_1 \end{pmatrix} \mid \beta_1 \in \mathbf{Z} \right\}$. Then $s_1^* = s_1 \forall s_1 \in Z(\chi)$, and hence $Z(\chi) \subseteq H(\chi)$, which shows that the involution $*$ is of the first kind. Moreover, T is a nonzero left centralizer of χ such that it satisfy the identities of Theorems 2.3, 2.5 and 2.7. However, χ is not commutative. Thus, the second kind is necessary in our theorems.

At last we provide an example to show that the Theorems 2.3, 2.5 and 2.7 can not hold for semi-prime rings.

Example 3.2. Let $S = \chi \times \mathbf{C}$, where χ is same as in example 3.1 having involution $*$ and left centralizer T same as in above example, $\mathbf{C}$ is the ring of complex numbers with conjugate involution τ . Hence, S is a non commutative semi-prime ring. Now define an involution α on S as $(s_1, s_2)^\alpha = (s_1^*, s_2^\tau)$. It can be easily proved that α is second kind. Further, we define the mappings β from S to S as follows $\beta(s_1, s_2) = (T(s_1), 0) \forall (s_1, s_2) \in S$ where T is same as in the example above. It can be easily checked that β is a nonzero left centralizer on S and satisfy the identities of Theorems 2.3, 2.5 and 2.7, but S is not commutative. Hence, the hypothesis of primeness is a necessary condition.

4. Acknowledgments

The authors are greatly indebted to the referee for his/her careful scrutiny and valuable suggestions, which have immensely improved the paper. The corresponding author is supported by DST-SERB project MATRICS, File No. MTR/2022/000153.

References

- [1] S. Ali and N. A. Dar, "On centralizers of prime rings having involution", *Bulletin of the Iranian Mathematical Society*, vol. 41, pp. 1465-1475, 2015.
- [2] A. Ali and M. Yassen, "A note on automorphisms of prime and semiprime rings", *Kyoto Journal of Mathematics*, vol. 45., pp. 243-246, 2005. doi: 10.1215/kjm/1250281987
- [3] M. Ashraf and S. Ali, "On left multipliers and the commutativity of prime rings", *Demonstratio Mathematica*, vol. 41, pp. 764-771, 2008. doi: 10.1515/dema-2013-0125

- [4] N. Divinsky, "On commuting automorphisms of rings", *Trans. Roy. Soc. Canada. Sect. III*, vol. 49, pp. 19-22, 1955.
- [5] I. R. Hentzel and T. El-Sayiad, "Left centralizers of rings that are not semiprime", *Rocky Mountain Journal of Mathematics*, vol. 41, pp. 1471-1482, 2011. doi: 10.1216/RMJ-2011-41-5-1471
- [6] I. N. Herstein, *Rings with involution*. Chicago: University of Chicago press, 1976.
- [7] J. Luh, "A note on automorphisms of rings", *The American Mathematical Monthly*, vol. 77, pp. 61-62, 1970. doi: 10.1080/00029890.1970.11992420
- [8] B. Nejjar, A. Kacha, A. Mamouni and L. Oukhtite, "Commutativity theorems in rings having involution", *Communications in Algebra*, vol. 45, pp. 698-708, 2017. doi: 10.1080/00927872.2016.1172629
- [9] E. C. Posner, "Derivations in prime rings", *Proceedings of the American Mathematical Society*, vol. 8, pp. 1093-1100, 1957.
- [10] M. F. Smiley, "Remarks on commuting automorphisms", *The American Mathematical Monthly*, vol. 63, pp. 466-470, 1956.
- [11] J. Vukman, "Centralizer on semiprime rings", *Commentationes Mathematicae Universitatis Carolinae*, vol. 42, pp. 237-245, 2001.
- [12] J. Vukman and K. U. Irena, "On centralizers of semiprime rings having involution", *Studia Scientiarum Mathematicarum Hungarica*, vol. 41, pp. 61-67, 2006. doi: 10.1556/sscmath.43.2006.1.4
- [13] B. Zalar, "On centralizer of semiprime rings", *Commentationes Mathematicae Universitatis Carolinae*, vol. 32, pp. 609-614, 1991.

Nadeem Ahmad Dar

Government HSS
Kaprin, Shopian-192231
Jammu & Kashmir
India
e-mail: ndmdarlajarah@gmail.com

Adnan Abbasi

Department of Mathematics,
Madanapalle Institute of Technology & Science,
Andra Pradesh,
India
e-mail: adnan.abbasi001@gmail.com

Claus Haetinger

Instituto de Matemática, Estatística e Física - IMEF
Universidade Federal do Rio Grande - FURG,
Rio Grande,
Brazil
e-mail: claus.haetinger@gmail.com

Arshad Madni

Department of Mathematics,
Aligarh Muslim University,
Aligarh,
India
e-mail: arshadmadni7613@gmail.com
and

Muzibur Rahman Mozumder

Department of Mathematics,
Aligarh Muslim University,
Aligarh,
India
e-mail: muzibamu81@gmail.com
Corresponding author